


STUDENT’S CORNER







1) Despite of repeated warnings, (a) /he

touched a live electric wire (b) /and was

electrocuted. (c) /No error (d)

Answer: (a) Delete 'of'



2) He asked me (a) /if I know (b) /where

the principal lived. (c) /No error. (d)

Answer: (b) It should be knew.



3) There will be no more supplies (a)

/unless all arrears of payment (b) /were

cleared by next Monday. (c) /No error (d)

Answer: (c)

It should be 'are' instead of 'were'



4) After a successful tour of Europe (a)

/my old parents returned back to India (b)

/on New Year's day. (c) /No error. (d)

Answer: (b) Delete 'back'.



5) The tourist did not know the local

language, (a) /but he used signs to make

people understand (b) /that he wanted to

reach to Darjeeling quickly. (c) /No error. (d)

Answer: (c) Delete 'to' after reach



6) Each of the boys (a) /were to blame (b) /for

the accident. (c) /No error. (d)

Answer: (b)



7) Oh for God sake (a) /leave me alone (b)

/and go away from here. (c) /No error. (d)

Answer: (a) Correct sentence: Oh for God's

sake! leave me alone and go away from here.



8) With little patience (a)/ you will be able to

(b)/ cross this hurdle. (c)/ No error (d)

Answer: (a) 'A little'



9) I have done my best; (a)/ the whole

thing now is (b)/ in the laps of the Gods.

(c)/ No error (d)

Answer: (c) We generally refer to something

as being in the 'hands' of another, not 'laps',





10. She did not like to have coffee (nor I did).

(a) neither I liked it 

(b) nor did I

(c) nor I like it 

(d) No improvement 

Answer: (2) (b); "nor did I" is the

appropriate use as invertersion takes place

after "nor".



11. Taj Mahal is (a worth seeing monument) in 

Agra.

(a) a monument to see its worth

(b) a monument worth seeing

(c) one of worth seeing monuments

(d) No improvement

Answer: (2)

(b); 'a monument worth seeing' is the appropriate use.



12. I had (not only helped her by) giving

hints but also with providing him links.

(a) helped not only to her by.

(b) helped her not only by

(c) not only helped her

(d) No improvement

Answer: (2) (b); We need to write main verb

"helped" and its object "her" after helping verb

"had" and then "not only" and "but also" should be

introduced.



13. We (has finished) our lunch half an hour

ago.

(a) finished

(b) will have finished

(c) had finished

(d) No improvement!

Answer: (1) (a); 'ago' is used with past indefinite 

tense thus 'finished' should be used instead of “had 

finished”



14. A small makeshift stage (was

construct) with a red curtain for a

backdrop.

(a) are constructed

(b) was constructed

(c) were constructed

(d) No improvement

Answer: (2)

(b); "was constructed" is the correct choice.





15. For his alleged involvement in

espionage, he is under a cloud these days

(a) experiencing cloudy weather

(b) enjoying favourable lunch

(c) under suspicion

(d) under observation

ANS- C



16. We have appealed to him again and again,

there is no use flogging a dead horse now.

(a) repeating our request

(b) making him see reason

(c) beating about the bush

(d) wasting time in useless effort

ANS- D



17. we shouldn't look down upon the

wretched of the earth.

(a) sympathies with

(b) hate intensely

(c) be indifferent to

(d) regard with contempt

ANS- D



18. Because of his misbehavior, he is

bound to face the music.

(n) get finished

(b) get reprimanded

(c) feel sorry

(d) listen to the music

ANS- B



19. The working of the factory was disrupted

on account of a token strike by the workers.

(a) total strike

(b) carefully planned strike

(c) short strike held as a warning

(d) sudden call of strike

ANS- C





20. Rearrange the parts of the sentence in correct 

order.

It is for the government,

P-especially one with such a 

Q-significant majority, to have the 

R-intelligence and leadership to think long term

1) QRP

2) PQR

3) RPQ

4) QPR
Answer (2) PQR



21. Rearrange the parts of the sentence in correct order

At one level, 

P. the law in understanding 

Q. such cases of violence 

R. one senses the limits of

1) RQP

2) PQR

3) RPQ

4) QRP
Answer 3. (3) RPQ



22. Rearrange the parts of the sentence in correct

order.

It is a crisis which

P-unless policymakers

Q-exercise some intelligence

R-will get even worse

1) RPQ

2) RQP

3) PQR

4) QPR
Answer(1) RPQ



Rearrange the parts of the sentence in correct

order.

There is a deeper

P-fissure here that goes

Q-from western theory

R-beyond explanations

1) PRQ 2) PQR 3) QPR 4) RPQ

Home Work



Home Work Answer






